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She’s A Woman.

John Lennon and Paul McCartney.

¢ Copyright 1964 Northern Songs Limited, 19 Upper Brook Street, London W1.
All rights reserved. International copyright secured.

(Organ: Registration No. 2)
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1.34. My love don’t give me pres- ents, 1 Kknow that
2. She dom’t give the boys the eye, She hates to
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she’s no peasant. On-1ly ev - er has to give  me
see me cry.___. She is__hap_-_py | just to hear me
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love for - ev - er and for - ev - er, My love don’t give me presents.
say that I will nev - er leave her, She don’t give the  boys the eye.
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Turn me on when I get lone -ly, peo - ple tell me that she’s on =ly
She will nev - er make me  jealous, gives me all her time as well as
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fool -in’, 1 know she is -n’t. s
lov -in, Don’t ask me why. __ She’s a  wo-man who
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un - derstands, She’s a wo-man who loves her man. She’s a wo-man, _T She’s” a
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F r (repeat and fade)

$
—
-



